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I Relative value of mxn nn ,n%an Ripn 01N 7NN ,nTay
a.  Anownr Aanowp: includes 0% 0N3> interrupt Ny to hear nYan
1. 237 >1"p that we cancel n"n to hear n»n (nTay >n"n)
a.  Challenge: from vv. 1-2 (he came to attack now, due to neglect of n”n; not y”na v 1nn)
i.  Tangential 7728 about YW1’ and the “nonexistent” ,oa (vv. 3-4)
ii.  Answer: n"n of the nation (Yw1n’) >nTay; n"n of an individual (::class[>21]) < nTay
a. Challenge: from rule of n”n 113 at his funeral
b. defense: parameters for n”n 711 are not the same as for n’n
2. N27. equations
a. 77150 Kpa: greater than nTay (per nnawm nnawn)
b.  75%p 83pp: greater than NN TN (per ’a7)
c.  myp np greater than NN TN (we suspend study for a funeral)
d myp np: greater than nmay (ruling re: 11 per v5; he avoids nkmv of his sister, not nmxn nn)
i Question: MmN NN (N30 T122) V. 12N RIPA (RO IMIDI9)
ii.  Answer: mx¥n nR>nYIN RIPR, since N’I2N M) trumps a N in the "N
b.  5%27s definitions: and parameters of a 713 (walled city)

1. 78721 71D: contiguous to or seen with city is considered part of the city

a. 7o contiguous (even if not seen as one) — if it sits in a ravine

b.  /¥7x seen (even if not contiguous) — atop a mountain
2. If: it was settled and then walled in — not considered 713 as per v6
3. If: a 713 has less than 10 01901 (see next mwn) — considered a village (reads on 14™)

a.  Even though: many people come there from outside, requires 10 residents who are Y02
4. If: a 792 was desolate and then settled — still a 713

a.  Desolate: may refer to walls (no walls)

i.  Rejection: (v7 - 2m3/p) — wall need not be up now to be considered nmn ¥y

b.  Rather: desolate of its 10 D902

5. Note: »wIn X0 MR ,MY: walled from times of Y1, rebuilt by Yvabr (v8) and repaired by ror (v9)

II.  Additional o maon of 9"an
a.  pwx Women are obligated in n%n R7pn because they were also involved in the miracle (n”aw7/2"v1)
b.  naw: When s falls on naw, we study the laws of the day (in lieu of reading?)
c.  anuws myp: Obligation to read n%»n and re-read (not just study) it by day, as per v10 OR v11
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